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Solutions

1. What is the probability that a hand of five
cards contains only
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2. In the story of the Three Little Pigs, the big
bad wolf was able to blow down the two
houses made of straw and of sticks, but
not the house made of bricks. If the wolf
chose two houses at random, what is the
probability that it would be able to blow
them both down?
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3. A department has 10 employees. Two will be
chosen at random to attend a conference.
What is the probability that both Sarah and

Dan will be selected?
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4. To win the grand prize in a hospital lottery,
you must match six different numbers
chosen from the numbers 1 to 45. What is
the probability of winning the grand prize?
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6. In the game of hearts, each of four players
receives 13 cards. What is the probability
that each player receives 13 cards of the
same suit?
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7. Six girls and five boys wish to join a
committee. Four of them will be selected.
What is the probability that three girls and
one boy will be selected?
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